(o

U’/:@:-‘«Gﬁﬁ’;"’é«/'b

14z g’,K’VU

FomolS b (omgh dolips (590! B9

5losic MATLAB 1331 0 5

tow ) dliw!

Olgwge Gl a5

$329UiS s (rilo SWlKe owikige 095

o (55,9l (SB suSulil>

Y




ol & 9 (Matrix Laboratory) Matlab 3l s 5 6yxe @

Command (Current folder Command window s oy Jols Matlab bl oy e

fx 4 help Apps 4 Plots Home ()l  Workspace history

o Lo (S 31l

+ Addition
Subtraction

* Multiplication

/ Division

\ Left division

Power

Complex conjugate transpose

() Specify evaluation order
¥ Element-by-element multiplication
./ Element-by-element division
A Element-by-element left division

Element-by-element power

Unconjugated array transpose

gl Oljle (S ¥

pi 3.14159265...

1 Imaginary unit, v-1

j Same as 1

eps Floating-point relative precision, € = 2752

realmin Smallest floating-point number, 91022
realmax Largest floating-point number, (2— £)21023
Inf Infinity

NaN Not-a-number
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>> A=[10 0 5 -1;8 1 1 3]

o =

1 -1 0
0 0 0
0 1 1
2 -1 -1

>> C=[10 20 -100 -50]

C =
14 20 -100 -50
*x B
A =
10 0 s -1
8 1 1 3
> B(@&)
ans =
1
> RB(2,3)
ans =
1
= R(1,:)
ans =

10 a 5 -1
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> 4=[1 3 4]

3 =
2
1
3
=» L4+E'T
angs =
3 4 7
»> A-B'
angs =
-1 2 1




>» B*EB

ans =

17

>» B¥4

ans =

LS Y S o e

L = ks

>» 1078

ans =

10 30 40

x> L2

ans =

0.5000 1.5000 2.0000

Inputs must be a scalar and a square matrix.

To compute elementwise POWEE, use POWER (.") instead.
> B*L
Error =ing w

> B2
ans =
1 3 16
Fr B.FR
ans =
1 3 16




> L./B

Matrix dimensions must agree.

>» L./B'
ans =
0.5000 3.0000 1.3333
»>» B."1.2
ans =
2.2974
1.0000
3.7372

b Slas 3l pais @

WA

X +
3x2-+——§éz4—sH110x

3*X"2+((x+y)/2)+sin(10*x)

ol (S pa baye clile ©
TU dde Pi
o9Rye il |
ool eps
JRERTS €
Colgin Inf
odese NaN
e )3 e o 235 25 realmin
realmax
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»» c=linspace(0,10,7)

0 1.6667 3.3333

5.0000

o

6.6667

10

8.3333

dlael 5l gy JuSis @

10.0000

Slall gl o

numel , size, length, ndims, find , rand, eye, ones, zeros, diag, det, trace,

sum, sort, max, min
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>> Zize (&)

ans =

> Zize (&, 1)

ans =

x> Zlize (&, 2)

ang =

>» numel (A)

»>>» length (A)

ansg =

>> ndims (A)

ansg =

o3

[T Ve I R ¥




»> find (A»5)

ans =

»> B (BA¥5)

ans =

10

£

1z

>»>» rand (3, 4)

ans =

0.8147

L9058
0.1270

L]

»» rand(4)

ans =

L9572
. 4854
.B003
.1418

[ e T e N

»» randn (3)

L]

[ e T e N

L9134
L6324
. 08975

L4218
9157
LTR22

. 8585

.1471
.DBB3
.B0S85

L T e e I o L]

[ T S 8 ]

L2TES
. 0468
L8575

. 6557
L0357
. 8491
. 8340

L9443
. 4384
L3252

L T e e I o

-96439
.1576
.9708

&TE7T

T377

L7431
L3822
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»> randi ([0 107,5,5)

ans

]

ol

10

m

Lx]

10

>> eye(4)

ans

>» ones(4)

ans

>» ones(2,1)

>> Zeros(5)

ans

»» zeros (3, 4)

ans
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>> diag([1 3 5 -1])

ans =

[ e T s B
[ s T o
[ T 1y B s R

Fx B=[1 2 3:4 5 &6:7

A:

1 2

4 5

T a8
»>> diag (i)
ans =

1

5

g9

>> trace (&)

ans =

15

>> det (&)

ans =

6.6613e-16

o sum(A(2, 1))

ans =

15

VY




Fromin(B{:,1))

ans =

Frmax(h{:,3))

ans =

sibate Shle g bgys @
== > < >= <= ~=
A= (jsie o & )lie S anase oo, lis)
A==1 (ScwlV ply pise Hlade L)

Fr B=1

Fr B==1

ans =

Fr AR

ans =

V¥




>» R=rand|(3)

L =
0.5060 0.9593
0.6991 0.5472
0.89089 0.1386

Fx BRI

ans =

a 0 0
a 0 0
a 0 0

>» find (A<0.5)

ans =

[£+]

>> BL(R<0.5)

ans =

0.1386
0.14593
0.2575

>> R{R<0.5 & A>0.2)

ans =

0.2575

>> R{R<0.5 | A>0.2)

.5060
. 63991
. 8808
.95893
.5472
.1386
.1483
L2575
. 8407

L L TR e Y e Y e Y e T i O i A e

L1433
2575
. 8407

VO




floor us™ 058 S Coouw &
ceil WS 05)5 yuiy Cuowws &

round L5 65,5 (Solwed (xS0 5 Cuows 4

primes  oai S5 53e b gl slie] primes(67)
factor Jol slael & & 5005 factor(51)

factorial |56 factorial(6)

»» A=3+41
L=

3.0000 + 4.00001
>» complex(3,4)
ans =

3.0000 + 4.00001
»>» real (&)

ans =

>» imag (&)

ans =

\Vd

dDlael (285,85 @
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>> abs (&)

ang =

> angle (k)

> cong (&)
ans =
3.0000 - 4.00001
iele @y

>» sdgrt (9)

ans =

F» B=[2 3:r4 5]

R:
P 3
4 5
»»> =drt (L)
ans =
1.4142 1.7321
2.0000 2.2361

»» nthroot (8, 3)

ans =

%]

VY




> power (2,8)

>>» log(l0)

ans =

3026

%]

>> log2 (10)

> logld (10)

ans =

o milgy
sin cos tan cot
asin acos atan acot
sinh cosh tanh coth

asinh acosh atanh acoth

sin(pi/2) sind(90)

YA




